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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

[Roll No. : vww.GovtlobsAlert.In
[Registration No.

IName :

[Exam Venue : iON Digital Zone iDZ Anantapur
[Exam Time : 9:00 AM - 10:30 AM

[Exam Date : 09/03/2019

Section : General Section

Q.1 A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate

how it will appear when opened.

Question Figure:
IREARERE

Ans

=4

X1 p99,

oo

b 0 {
v2lo o

Question ID : 9895809271
Chosen Option : 2

Q2 gelect the correct option that will fill in the blank and complete the series.

FAV,HET .KIQ .

Ans X 1. RHS
v 2 OMM
X 3 DFB
X 4 ONM

Question ID : 9895809248
Chosen Option : 2

Q3 Choose the option figure in which the problem figure is hidden/embedded.
Question figure:

I

Ans
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Question ID : 9895809269
Chosen Option : 3

Ans

173,182, 198, 223, 259,

< 1 301
v 2 308
< 3 315
X 4 282

Q4 Select the correct option that will fill in the blank and complete the series.

Question ID : 9895809261
Chosen Option : 2

Ans

Q.5 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements

is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and

definitely follow(s) from the information given in the statements.

Statements:
All tents are houses.
All houses are bricks.

All bricks are stones.

Conclusions:
I. All bricks are houses.

II. Some stones are tents.

v Only conclusion IT follows
< 2. Only conclusion I follows
/3. Neither I nor II follows

< 4. Either I or II follows

Question ID : 9895809260
Chosen Option : 3

Ans

Q.6 The heights of A and B are equal. C is shorter than A; D is shorter than E, but taller than B. Who is the tallest of all?
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X
Mg o w

Question ID : 9895809258
Chosen Option : 4

Q7 Find the missing number in the given analogy.

16:240 -7 182
Ans ?("1_ 18

v 2 14

<313

X412

Question ID : 9895809263
Chosen Option : 2

Q.8 Select the option that is related to the third term in the same way as the second term is related to the first term.

BotH : NotT :: FotL : ?

Ans x 1. RotD
< 2. RotT
v 3 RotxX
X 4 AotH
Question ID : 9895809253
Chosen Option : 3
Q.9

If “+ means ‘', ' means “x°, ‘<’ means ‘+’, and ‘+’ means -, then:

64—81+9 X 4 =2
Ans X' 1. 570

< 2 630

v 3 580

X 4 510

Question ID : 9895809266
Chosen Option : 3

le Select the correct option that will fill in the blank and complete the series.

471, 479, 452, 516, 391,

Ans X' 1. 508
X 2 627
X 3 616
v 2 607

Question ID : 9895809262
Chosen Option : 2
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Q.1 Four words have been given out of which three are alike in some manner, while one is different. Choose the odd one.

1
Ans 1. Proteins

v 2. Drink

/< 3. Carbohydrates
X 4. Fats

Question ID : 9895809250
Chosen Option : 2

Q.1 Four letter clusters have been given, out of which three are alike in some manner, while one is different. Choose the odd

2  one.

Ans il- KAR
X 2. UFA
< 3 IVO
< 4 ACE

Question ID : 9895809249
Chosen Option : 4

Qél Choose the option which completes the given figure series.

PROBLEM FIGLURES

Q0O
OOOO = | 2| Q

S -
X1l O

An

vo|o

K3l a

X+l

Question ID : 9895809267
Chosen Option : 2

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
4 s true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1. All keys are locks.
2. All locks are screws.

3. All doors are keys.

Conclusions:
I All screws are keys.

11. Some locks are keys.

A o1 Only conclusion IT follows

/X 2. Either conclusion I or II follows
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/< 3. Neither conclusion I nor II follows

/< 4. Only conclusion I follows

Question ID : 9895809259
Chosen Option : 1

Qt_;l IfIECGF is written as 95376 and CAHT as 31810, how will QGMVT be written?

Ans <1 177132209
X 2. 177132208
X 3. 177122910
v 4 177132210

Question ID : 9895809255
Chosen Option : 4

Qél K.L.M. N, O, P and Q are sitting along a circular table facing the centre.

(1) L sits between N and O.
(ii) K is third to the left of O.
(iii) Q is second to the left of M. who is to the immediate left of P.

Which is the correct position of L with respect of Q?
Ans X 1 Second to the right
# 2. First to the left
/< 3. First to the right
v 4 Second to the left

Question ID : 9895809256
Chosen Option : 4

2! Find the missing number from the below options.

Question ID : 9895809265
Chosen Option : 1
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Qél Which of the following answer figure will complete the given figure?

OQuestion figure:

Ans

2 sV

Question ID : 9895809268
Chosen Option : 3

Q.1 Four options have been given out of which three are alike in some manner, while one is different. Choose the odd one.
9

Ans x 1. 446
X 2 824
v 259
X 4 617
Question ID : 9895809264
Chosen Option : 3
Q.2

o A, B.C.D.E andF are sitting along the circle facing the centre.

(i) B is an immediate neighbour of D.

(ii) C is an immediate neighbour of A but is not an immediate neighbour of F.
(iii) A is to the immediate left of B.

‘What is the position of E?

Ans K 1 To the immediate left of B

/< 2. Between A and B

/X 3. To the immediate right of C

v 4. Second to the right of D

Question ID : 9895809257
Chosen Option : 3
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Q2 Select the related word pair from the given alternatives.

Glue : Paper ::
Ans X 1. Notebook : Colour
< 2. Test : Notice board
v 2 Cement : brick
/< 4. Paper : Wrapper

Question ID : 9895809252
Chosen Option : 3

Q.2 Select the Venn diagram that best illustrates the relationship between the three given classes.
2
Pens, Pencils ., Books

Ans
X1 |aD
x: @
v |00
X |@

Question ID : 9895809272
Chosen Option : 2

Q.2 Tn a certain code, SEVEN is coded as TFWFO, then how is NINE coded in the same way?
3

Ans  of 1. QJOF
X 2. OFJO
X 3. OJFO
X 4 OOJF

Question ID : 9895809254
Chosen Option : 1

Q.2 Choose the option that most closely resembles the mirror image of the given figure when mirror is placed at right side.

4
Question figure:
»

X1 ><
x| K&

Ans
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Question ID : 9895809270
Chosen Option : 1

Q.2 Select the related word pair from the given alternatives.

5

Ans

Pond : Lake ::

v’ 1 Hill : Mountain

X 2. Church : Religion

/< 3. Stethoscope : Machine
# 4. Gold : Ornament

Question ID : 9895809251
Chosen Option : 1

%2 Which of the following rivers does NOT flow into the Arabian sea?

Ans

& 1. Narmada
X 2. Sabarmati
v Tungabhadra

& 4. Mandovi

Question ID : 9895809437
Chosen Option : 3

Q7'2 Which bacteria is responsible for the formation of curd?

Ans

& 1. Bacillus radicicola
& 2. Lactobacillus aureus
& 3. Microcoecus

v 4 Lactobacillus acidophillus

Question ID : 9895809431
Chosen Option : 4

Q.2 Inthe 2018 Union budget of India, what was the proportion of MSP (minimum support price) of agriculture products?

8
Ans  of 1 1.7 times the market rate
& 2. 1.9 times the market rate
& 3. 2.0 times the market rate
& 4. 1.5 times the market rate
Question ID : 9895809445
Chosen Option : 4
Q.2
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9 Keisabadi is a form of folk dance of  state in which only men can take part.
Ans 1. Rajasthan
X 2. Odisha
v 5 Telangana
X 4 sikkim

Question ID : 9895809425
Chosen Option : 3

Q.3 The and ideals of the Indian Constitution are reflected in the Preamble to the Constitution of India.
0

Ans o 1 Philosophy
X 2. Laws
X 3. Policies
X 4 Acts

Question ID : 9895809440
Chosen Option : 2

Q.3 The share of the tertiary sector to the GDP has increased but the contribution of which sector to employment is the
1  highest at present?

Ans 1. Secondary

X 2. Industry
' 2. Information technology

X 4. Primary

Question ID : 9895809447
Chosen Option : 4

Q2-3 What is mandatory for any entity entering into a financial transaction of ¥ 2.5 lakh or more?

Ans  of 1. PAN card
& 2. Licence
& 3. Aadhaar card
/< 4. Passport

Question ID : 9895809446
Chosen Option : 4

Qé3 Who has been renominated as the Chairman of the Lok Sabha Ethics Committee?
Ans X1 LK Advani

/< 2. Ramesh Pokhriyal

/< 3. Sumitra Mahajan

' 4 Chandrakant Khaire

Question ID : 9895809428
Chosen Option : 4

Q.3 Who won the Badminton World Federation World Tour Finals Tournament in December 20187
4

Ans
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7< 1. Mahesh Bhupati
& 2. PV Sindhu
v 3. Nozomi Okuhara
/< 4. Saina Nehwal

Question ID : 9895809430
Chosen Option : 2

%3 The deficiency of vitamin-A results in:

Ans X' 1. rickets
W 2. scurvy
#< 3. night blindness
X 4. hair fall

Question ID : 9895809433
Chosen Option : 3

%3 The Lohri festival is mainly related to which state?

Ans X 1. Maharastra
X 2. Uttar Pradesh
X 3. Punjab
v 2 Goa

Question ID : 9895809424
Chosen Option : 3

Q7-3 Which of the following European countries is called *the land of a thousand lakes™?

Ans  of 1 Sweden
# 2. Finland
/X 3. Norway
/< 4. Estonia

Question ID : 9895809423
Chosen Option : 2

Qé3 Who started the Bhoodan Movement or The Land Gift Movement in 19517

Ans X 1 Indira Gandhi
v 2. Vinobha Bhave
/< 3. Aachrya Narendra Dev

< 4 Mahatma Gandhi

Question ID : 9895809436
Chosen Option : 2

% The city of Dhillika (Delhi) was founded by the:

Ans X 1. Pariharas
' 2. Chauhans
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X 3. Pawars

/< 4. Tomars

Question ID : 9895809443
Chosen Option : 2

Q4 s the most abundant element in the earth’s crust.
Ans X 1. Carbon dioxide

' 2. Hydrogen

< 3. Silicon

X 4. Oxygen

Question ID : 9895809434
Chosen Option : 1

Qi4 Which of the following rulers were closely associated with Yuehzhi nomadic people?

Ans (1. D'umaga
X 2. Shaka
/< 3. Pahalva
X 4. Kushana

Question ID : 9895809442
Chosen Option : 3

%4 What is the *Agenda 21" of the Rio Summit 1992 related to?
Ans x 1.

Technology transfer mechanism to developing countries for ‘clean — energy” production
/X 2. Sustainable development
' 2 Combating the consequences of population explosion

/< 4. Mitigation norms of GHGs emission

Question ID : 9895809435
Chosen Option : 3

Q.4 Bees must collect nectar from approximately how many flowers to make one pound of honey?
3

Ans 1. 20 million
X 2. 10 thousand
v 3. 50 milion
& 4 2 million

Question ID : 9895809432
Chosen Option : 1

Q‘i“ Article 368 is related to:

Ans  of 1 centre-state relations
X 2. constitutional amendments
/< 3. the Supreme Court
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/< 4. a state government

Question ID : 9895809441
Chosen Option : 1

Q.4 Whom does the constitution empower for the admission or establishment of new states?
5
Ans X 1. State Government
' 2. Supreme Court
/< 3. Parliament
/& 4. Central Government

Question ID : 9895809439
Chosen Option : 4

Qé4 Who among the following was the first Indian woman to receive the Nobel Peace prize?

Ans  of 1. Mother Teresa
< 2. Nargis Dutt
& 3. Indira Gandhi
/< 4. Sarojini Naidu

Question ID : 9895809427
Chosen Option : 1

Q7'4 Which Indian IT expert is called ‘the father of the Pentium processor’?

Ans X1 Vinod Dham
/< 2. Biswamohan Pani
/< 3. Ajay Bhatt
v 4 Anand Chandrashekher

Question ID : 9895809426
Chosen Option : 3

%4 Where did the first Asian Games begin?
Ans X 1. China

& 2. Sri Lanka

X 3 India

W 2 Nepal

Question ID : 9895809429
Chosen Option : 3

%4 The pioneer of communism in India was:
Ans X 1. S. A Dange

75 2. M. N Roy

/< 3. Nalin Gupta

« 2 M. R Jayakar
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Question ID : 9895809444
Chosen Option : 2

Ans X 1. Kalumar Peak
' 2. Mahendragiri
X 3. Pachmarhi
& 4. Gurushikhar

.5 - - . .
Qo Which of the following is the highest peak of Vindhya Range?

Question ID : 9895809438
Chosen Option : 2

Q.5 Study the following table carefully and answer the questions given below it.
Number of candidates appearing for an interview for a post in Bank and percentage of candidates qualifying

Banks Candidates % of

Appearing Candidates
Qualifving

A 1500 14

B 2200 26

& 3000 17

D 980 20

E 1200 28

E 2500 21

Ans X1 2000
< 2. 1800
v = 1900
X 41500

What was the average number of candidates who appeared for the interview in bank A, C and E together?

Question ID : 9895809622
Chosen Option : 3

Ans o 1 % 400
< 2 T 500
X< 3 T 480
X4 T320

Q.5 AsellanarticletoBata gain of 5% and B sell it to € at a gain of 10%. If C paid ¥ 462, what did it cost A?
2

Question ID : 9895809606
Chosen Option : 1

Ans  of 1. 40sq. cm
75 2. 36 5q. cm
/< 3. 80 5q. cm
X 4. 20 5q. cm

Q.5 The radius of in-circle of a triangle is 4 cm and the perimeter of the triangle is 20 em. What is the area of the triangle?

Question ID : 9895809618
Chosen Option : 2
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Q.5 A roomis in the shape of cube and the length of the longest rod placed in it is 124/3 m. The area of the floor is:
4

Ans X1 36s5q.m
W 2 144 sq. m
/5 3 64350 m
/< 4. 96 5q. m

Question ID : 9895809619
Chosen Option : 2

Q.5 What is the maximum number of students among whom 63 pens and 140 copies can be distributed in such a way that
5 each student gets the same number of pens and same number of exercise books?

Ans xl. 5
K2
v 7
K43

)

Question ID : 9895809598
Chosen Option : 3

Q.5 Atrain passes a 60 metres long platform in 20 seconds and a man standing on the platform in 16 seconds. The speed of
6 the train is:

Ans X1 40 kmph
< 2. 50 kmph
/< 3. 38 kmph
v 4 54 kmph

Question ID : 9895809616
Chosen Option : 2

Q.5 Study the following table carefully and answer the questions given below it.
7  Number of candidates appearing for an interview for a post in Bank and percentage of candidates qualifying

Banks Candidates % of

Appearing Candidates
Qualifying

A 1500 14

B 2200 26

€ 3000 17

D 980 20

E 1200 28

E 2500 21

‘What was the respective ratio of the number of candidates who qualified in bank A to the number of candidates who
qualified in bank E?

Ans X1 5:6
X22:5
X33:7
vis:3

Question ID : 9895809621
Chosen Option : 4

Q.5
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8 A man travels from AtoBata speed of 50 km/hr and returns to A by increasing his speed by 30%. What is his average
speed during the whole journey?

Y 21 562 ku/hr
X 2 5?§ km/hr
X s 56§ km/hr

X 4 52§ kem/hr

Question ID : 9895809615
Chosen Option : 2

Q.5 Study the following table carefully and answer the questions given below it.
9  Number of candidates appearing for an interview for a post in a Bank and percentage of candidates qualifying

Banks Candidates % of

Appearing Candidates
Qualifying

A 1500 14

B 2200 26

C 3000 17

D 980 20

E 1200 28

F 2500 21

The number of candidates who did not qualify in bank D was approximately what percent of the candidates who did not
qualify in bank B?

Ans X 1 5]
X2 42
vz 48
K444

Question ID : 9895809620
Chosen Option : 3

Q(ie What sum will fetch a simple interest of ¥ 25,410 in five and a half years at 6% p.a. rate of interest?

Ans o 1 T 77,000
X 2. T88,000
X 3 70,000
X 4 55,000

Question ID : 9895809611
Chosen Option : 2

Q.6

1 75% of a number X is equal to S of an another number y. What is the ratio between x and y?
At K11:s

X2 13:8

V3 g8:15

X41:3

Question ID : 9895809610
Chosen Option : 3
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Q.6 The compound interest on a certain sum at 4% per annum (compounded annually) for 2 years is T 102. On the same
2 principal at the same rate for the same time, the simple interest will be:

Ans o 1 F 100
<2 T099
<3 Tog
X4 T 101

Question ID : 9895809612
Chosen Option : 2

Qés If the cost price of an article is ¥ 200 and selling price of the same article is ¥ 225. Find the profit %.
Ans XK1 15%

V2 12.5%

X3 25%

X4 16%

Question ID : 9895809607
Chosen Option : 2

% J729%x56+8="7
Ans 1. 198

X 2 138

v 3 189

X4 142

Question ID : 9895809600
Chosen Option : 3

Q.6 Two numbers A and B are respectively 10% and 25% more than third number respectively. What is the ratio of A and B?
5

Ans X1 13:16

K212
V'3 22:25
K4 15:16

Question ID : 9895809609
Chosen Option : 1

Q.6 The average of two numbers is 6 and that of another three numbers is 8. The average of these five numbers is:

Ans X1 6.5
X276
vz 72
K455
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Question ID : 9895809601
Chosen Option : 3

Q7-6 If 12 men can do a job in 7 days, what fraction of the job can be done by one man in one day?
Ans x 1 1
K2
Vs
X a

adbeil- A L it

Question ID : 9895809613
Chosen Option : 4

Q.6 The marked price of a radio is T 480. The shopkeeper allows a discount of 1096 and still gains 8%. If no discount is
8 allowed, then his gain percent is:

Ans X 1 350
V2 20%
X3 15%
X 4 25%

Question ID : 9895809603
Chosen Option : 4

Qé6 IfEO%ofP=30%GfQ=% of R, then P : QR is‘equal to:
Ans X 11:2:4

X25:10:6

vz 15:10:18

X42:5:8

Question ID : 9895809608
Chosen Option : 3

Q.7 1ftwo pipes function simultaneously, a tank is filled in 12 hours. One pipe fills the tank 10 hours faster than the other.
0 How many hours does the faster pipe alone take to fill the tank?

Ans Xl- 12
v'2 20
X3 15
X418

Question ID : 9895809614
Chosen Option : 3

Q.7 1n a family of 4 members, if father earns T 50,000, mother earns T 32,000, son T 25,000 and daughter monthly earns
1 ¥ 20000 in a month, then the average income of family is given by:

Ans X 1. 731000
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X 2. T 28000

X 3. F 32000
v 2 F 31750

Question ID : 9895809602
Chosen Option : 4

Q2'7 The value of the following expression:

150% of 15 + 75% of 75 is
Ans X 1135

V2 7875

X 3138

X 4 7575

Question ID : 9895809605
Chosen Option : 2

Q.7 1f a carpenter increases each edge of a square wooden piece from 42 cm to 45 cm, the cost of wood is increased by
3 7 783. What is the rate of wood per sq. cm?

ans g w3
X234
K33T45
XaZs

Question ID : 9895809617
Chosen Option : 1

Q‘i7 What is the Mode of the following data:

X [32]14/59 [df28]7 34|20
fix)[8 [4J12]8 [10]16]15]9
Ans Xl- 28
X2 14
Va7
X 4 59

Question ID : 9895809604
Chosen Option : 3

Qé" Jox 15-56%xT784+112=7

Ans X1 158
X 2 138
v 3 148
X 4 238

Question ID : 9895809599
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l Chosen Option : 3

Section : English Language

Q1 Select the word which means the same as the group of words given.

A person giving too much attention to small details and wanting perfection.

Ans X 1. studious
/< 2. Fanatic
v . Fastidious
X 4 Gullible

Question ID : 9895809795
Chosen Option : 1

Q2 gelect the antonym of the given word.

CONCISE

Ans X 1. Short
v 2. Lengthy
& 3. Succinct
X 4 Brief

Question ID : 9895809790
Chosen Option : 2

Q3 Select the most appropriate word to fill in the blank:

Finally, the prizes were  to all successful participants by the chief guest.
Ans o 1 distributed
X 2. provided
& 3. shared
X 4. divided

Question ID : 9895809799
Chosen Option : 1

Q4 Select the word which means the same as the group of words given.

A short interesting incident about a person
Ans of 1 Anecdote
& 2 Drama
# 3 Ballad
X 4. Epitaph

Question ID : 9895809794
Chosen Option : 1

Q.5 Select the most appropriate word to fill in the blank.

As this Principal adopts a

Ans X' 1 proper

approach towards the running of the school, the school is losing its prestige.
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X 2 dilute
< 3. strict
v 4. casual

Question ID : 9895809798
Chosen Option : 2

Q6 Select the meaning of the given idiom.

Miss the boat

Ans  of 1. To miss the chance
X 2. To take a risk

X 3. To miss someone
X 4 To drown

Question ID : 9895809793
Chosen Option : 4

Q7 Select the meaning of the given idiom.

To burn one’s fingers

Ans o 1. To have an unfavourable result
/X 2. To undergo pain

/< 3. To behave as if one is important

< 4. To touch something hot

Question ID : 9895809792
Chosen Option : 2

Q8 Select the most appropriate word to fill in the blank.

Most of the Himalayan rivers are perennial: they have water

Ans X1 between
« 2. throughout

X 3. along

/5 4. across

the year.

Question ID : 9895809781
Chosen Option : 2

Q9 Select the synonym of the given word.

ABUNDANT
Ans of 1 Plentiful

X 2. Inadequate

/< 3. Lacking

7% 4. Scanty

Question ID : 9895809788
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l Chosen Option : 1

%1 Select the wrongly spelt word.

Ans X 1. Maneuver
& 2. Maintenance
< 3. Mathematics
v 4 Liason

Question ID : 9895809797
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
1 substitute it, select No substitution required.

The Deccan Plateau is a triangular landmass that lies to the south of the river Narmada.

AnS o 1. No substitution required
& 2. are a triangle
/< 3. has a triangular

X 4. are a mass

Question ID : 9895809779
Chosen Option : 2

1
Qz Select the wrongly spelt word.

Ans X' 1. Prominent
X 2. Professor
< 3. Laboratory

v 2 Knowlege

Question ID : 9895809796
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
3 substitute it, select No substitution required.

The sun rises two hours earliest in Arunachal Pradesh as compared to Gujarat.

Ans  of 1 two hours earlier

X 2. two hour early
X 3. two hours’ early
X 4. No substitution required

Question ID : 9895809777
Chosen Option : 1

Q.1 TIdentify the segmenrt in the sentence which contains the grammarical error from the given options.
4
Agriculture is main occupation of the people living in the plains.
Ans - o .
X 1 living in

v 2. is main occupation
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& 3. the plains

< 4. of the people

Question ID : 9895809775
Chosen Option : 3

Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.
5
India’s relations with most countries of the world have remained cordial across the years.
Ans X 1. with most countries

' 2. across the vears

X 3. India’s relations
X 4. of the world

Question ID : 9895809776
Chosen Option : 2

szl Select the antonym of the given word.

DESPISE

Ans X 1 Dislike
/< 2. Contempt
< 3. Hate
v 4 Admire

Question ID : 9895809791
Chosen Option : 4

Q1 :
-~ Select the synonym of the given word.

ENORMOUS
ANs %1 Tiny

+ 2 Huge

& 3. Dwarf

/< 4. Negligible

Question ID : 9895809789
Chosen Option : 2

Q1 Select the most appropriate word to fill in the blank.

The Chilika Take isthe ~ salt water lake in India.
Ans  of 1 largest
X 2. large
/< 3. more larger

X 4. larger

Question ID : 9895809780
Chosen Option : 1
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Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
9 substitute it, select No substitution required,

The Himalayas represent one of the more rgged mountain barriers of the world.
Ans 2 1. one in the most

v 2. one of the most

< 3. No substitution required

X 4 the more

Question ID : 9895809778
Chosen Option : 2

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

The Narmada (1) from the Amarkantak hills in Madhya Pradesh.
It flows (2) the west in a rift valley (3) due to faulting.
On its (4)  to the sea, the Narmada creates many (5)
locations.

SubQuestion No : 20
de Select the most appropriate option that will fill in the blank
number 1.
Ans X1 heads
#< 2. creates
' 2 originates

< 4 resides

Question ID : 9895809783
Chosen Option : 3

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate

option for each number:

The Narmada (1) from the Amarkantak hills in Madhya Pradesh.
It flows (2) the west in a rift valley (3) due to faulting.
On its (4) to the sea, the Narmada creates many (5)
locations.

SubQuestion No : 21
Ql'z Select the most appropriate option that will fill in the blank

mumber 2.
Ans X 1. across

X 2. facing
/< 3. against
v 4 towards
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Question ID : 9895809784
Chosen Option : 4

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

The Narmada (1) from the Amarkantak hills in Madhya Pradesh.
It flows (2) the west in a rift valley (3) due to faulting.
On its (4)  to the sea, the Narmada creates many (5)
locations.

SubQuestion No : 22
Qz'z Select the most appropriate option that will fill in the blank
number 3.

Ans (1. forming

< 2. form
v 3 formed

< 4. formation

Question ID : 9895809785
Chosen Option : 3

Comprehension:
In the following passage some words have been'deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

The Narmada (1) from the Amarkantak hills in Madhya Pradesh.
It flows (2) the west in a rift valley (3) due to faulting.
On its (4) to the sea, the Narmada creates many (5)
locations.

SubQuestion No : 23
Qéz Select the most appropriate option that will fill in the blank
number 4.
Ans X1 road
#< 2. movement
7< 3. approach
4 way

Question ID : 9895809786
Chosen Option : 2

Comprehension:
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In the following passage some words have been deleted. Fill in the

blanks with the help of the alternatives given. Select the most appropriate
option for each number.

The Narmada (1) from the Amarkantak hills in Madhya Pradesh.
It flows (2) the west in a rift valley (3) due to faulting.
On its (4)  to the sea, the Narmada creates many (5)
locations.

SubQuestion No : 24
Qf Select the most appropriate option that will fill in the blank
number 5.
Ans X 1. specific
< 2. plain
v 3. scenic

< 4 ornamental

Question ID : 9895809787
Chosen Option :'1

Q.2 Identify the segment in the sentence which contains the grammatical error from the given options.
5

Human activities is leading to the gradual destruction of the rainforests.

Ans X 1 the gradual
v s leading
/ 3. Human activities

< 4. the rainforests

Question ID : 9895809774
Chosen Option : 1

Section : Hindi Language

Ol O e w/ A e -
Ans xl' mg
X gt

W s HOT
X 4 St

Question ID : 9895807193
Chosen Option : --

% gy O G FEr F AT -

Ane XL 9 § g
v 2 TTEET g
X 3 S\ BT
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X 4 T ST

Question ID : 9895807198
Chosen Option : --

S ST Ew R F AT a= -
Ans X 1 B9

X 2 anfEaw

v o

?(4.23‘[&

Question ID : 9895807199
Chosen Option : --

¢ T T I F 9g ST A EE w1 I
TG Faterd dfeheT ereal F SA-cAT A T g
Ans 1 gt ot
v 2 FT geEferd
X3 39T I
K 4 SfeFaT eredl Y

Question ID : 9895807179
Chosen Option : --

% T I e UsE T TIT HL
Ans !l. m

K2 amefor

X 3. eIl

X 4 yErfoT

Question ID : 9895807202
Chosen Option : --

Q8 R T W R F AT 39T ered F TIA F

WHR AT IR P A FFamrHaafia . F a0 ad 2
AnS X1 At

v ag

x5 e

X o anfear

Question ID : 9895807185
Chosen Option : --
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7 FE I AT wEE FT ThF
Ans xlw

A 2 grsTata

X o meiat

v o msmafa

Question ID : 9895807201
Chosen Option : --

Qs S aga FH A @ F v e e @
Ans X 1 3eE

X 2 grade

V'3 T

X 7

Question ID : 9895807200
Chosen Option : --

Comprehension:
frafef@a sy & Nea T #r 9fd gz & @9 for
T FeAl & FFER BT

fFrsrocdge (1) 9, 727 a3, e Iy
S FEaT T Ae d, AR Tvm L (2) T 3O
HEFaT AR Fapuear 3 wXar § AN 3w & 3%

(3) HeXT uF fFeamm 9F AT (4) =
gy dur #r e At § 1 T SfdEt ¥ go R ek
Hear (5) &t grar g1
SubQuestion No : 9

ey & Hafad fea == (1) & T
39gFA AeE B
Ans xlm
<2 xR
v o fafirsz
X4 frse

Question ID : 9895807188
Chosen Option : --

Comprehension:
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frafef@a sy & Nea T #r 9fd g & @ for
T Gl & FFER BT

ffrsrac g (1) 9ok, T 5=, A H1fQ
N FEa R Ae E AR T (2) er 3w
HEFAT AR Fapmear 3 war § HN s & 3%
. @) T wI REm AT AT g (4) BEs
A & &1 Rt A | 7 S ¥ 3o e ok
FEar @ (5) 8 B #
SubQuestion No : 10

% s F EHET R T (2) ¥ R
3IYFT AT ET

Ans ?{l'm
X2 FEas
< 3 grgy
v e

Question ID : 9895807189
Chosen Option : --

Comprehension:
frafef@a sy & Nea T #r 9fd e & 8= oo
T 99l & FFER HIfe-

ffrsrac g (1) Joish, T &=, A H1fQ
A FEcau REa A E, BEw ww _ (2) gor e
HEFAT AR Fapmear 3eEIT #ar § HK s & 3
@) T R TSI WAt gl (4) BEd
A & &1 e e § | 77 Sw-afi ¥ 3o e ek
Hedm & (5) 8 @ &
SubQuestion No : 11

Gt s F EHET R T (3) ¥ RBw
39YFT 2AeE EI

Ans ?{l' a a
X< 2 sifas
< 3 i
v o tEfeas

Question ID : 9895807190
Chosen Option : --

Comprehension:
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fafafe ey & Rea e #r 9fF ey & 3= Ro
T FeAT F HFJAL HITAT-

Tarsrozsdgo (1) vdie, 97 o, o anfe
S FEaqr REA @A €, BEwE vw . (2) e el
AT AN FeyHeaT 3EET waT ¢ AR EW & 9|
. BT REmUTI AT g (4) REd
FAN g Fr BT Mg & 1 a8 rafREt F g REw ek
Hear &1 (5) 87 g gl
SubQuestion No : 12

%! e F EfaT Rea wa (4) & T
3UYFT A ET

Ans -?(l'u_'“?TﬁTﬂF
< 2 gl
v T
< 4. graToT

Question ID : 9895807191
Chosen Option : --

Comprehension:
frrafef@a ey & Rea wu=r $1 9fF aeanr & & o
T FIA F IFFAR S0

et off 2 ¥ 7o (1) 9eitep, T e, I 3y
I e Rewaa E Se T (2) g e
AT AR TeyeaT 3eET Far € IR FER & @

(3) 3Mex va Feary arog Far ¥ _(4) REe
mﬁrﬁﬁﬁqmﬂ%lwhﬁm#@%ﬁﬁ?
T A (5) @ ¥
SubQuestion No : 13

%! ey #F THET Rea o (5) ¥ R
3UgFT AT B

Ans o1 e
X 2 garg
X3 g
X 4 AT
Question ID : 9895807192
Chosen Option : --
Q.1
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R v &1 s & T 39gad Ueg F T4 B

Hel sTSUT &N GAT _ FE AL FA H F@ T
Ans xl,}TQﬁH

v

X 3 s

X+ s

Question ID : 9895807183
Chosen Option : --

% mrar # gEaE oee B
Ans xl' m

Vo A

X3 oo

X 4 giEar

Question ID : 9895807195
Chosen Option : --

Ul R w1e e T ag ST A S S 1 IR

et & ywfafea et gar ofr Frer & 9aeT fFar o gwar 2
K Pt g e

> Freamst @ s

A 3 rer T g

X 4 Brar = T@EaT B

Question ID : 9895807178
Chosen Option : --

U g FT gTEEEe -
Ans of 1 ST
X o e

X s st
X4 faeg

Question ID : 9895807196
Chosen Option : --

Qélﬁammﬁmi%ﬁgﬁﬁmﬁam#ﬁmmﬁwqmmﬁl
3W JAEIT I GEHL A ied Thed & I

Ans X1 zofag
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e e
X3 qifzg
R r

Question ID : 9895807181
Chosen Option : --

Qélﬁammﬁwmﬁmm¢ﬁtmmmmﬁl
FHA FT FET Heded fasgy o
Ans o FON
X2 FaT
X 3 FiET
v o admEr

Question ID : 9895807180
Chosen Option : --

%P Rz orer W RET g B

Ans o) ??-I’
X 2 o
X Rfarse
v wfirse

Question ID : 9895807194
Chosen Option : --

9’ S #I HIT 9T FEAT HEEL F Y -
e X1 RfeF g Fgar

v 2 GRIHTH HgeT

X3 AR ¥ Freer

K 4 TTYRUT 19 F T &7 FL Pl

Question ID : 9895807197
Chosen Option : --

% Ra o o F R suged e #owed
T W T e A ¥

s XL amereRT
v 2 3T
K3 g

X“'Jﬁ.ﬁ

Question ID : 9895807184
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l

Chosen Option : --

% RU T 9w w1 TE HE A9 B o B 3§
Tg W 35 § IS T FH AT Tq3A & T oA

Ane X1 X & Y
X2 F gy
Xs.'ﬂ?_ﬁ'@'&'l?v‘l’ﬁl

v TE ¥ 3ea

Question ID : 9895807177
Chosen Option : --

QAZ BT 77 a7 # wifea @3 #°F wiornfa &= & R sagea Beer &7
A TS ¢ 3R gE ¥ S a arer ¢
Ans X1 éw-'lrl?j
v T
X o Bieshm
X 4 ST

T FLI

Question ID : 9895807182
Chosen Option : --

O Reoa T @ s F AT s9ged oeg T 9IS
SHR W AfFE et SET e i e
Ans XL faer
X2 s
v fer
KXo R

& gl

Question ID : 9895807186
Chosen Option : --
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